Candle in Bottle (1G20.10)

Location: 13-1L

Concept/Purpose: Accelerated Reference Frames
Procedure/Explanation: A two-liter bottle containing a lit candle is dropped from the lecture table. During free fall the candle and the air in the bottle are weightless.  The air is unable to create the necessary convection currents needed for the candle to continue burning so it goes out during the flight.  Convection depends on the cool air falling and the hot hair being buoyant enough to rise, but there is no gravitational attraction during free fall and hence there can be no falling nor rising of the air based on temperature. 

